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1. Green chemistry aims to

a) design chemical products and processes that maximize products.

b) design safer chemical products and processes that reduce or elirninate the use and

generation hazardous substances

c) design chemical products and processes that work most efficiently
d) utilize non-renewable energy

2. Green chernistry is also called

a) life chernistn b) envrronrnental cher-nistry

c) organic chemistrl' d.) sustainable chemistry

3. Which of the following is a challenge for green chernists?

a) Awareness of the benefits of green chemistry

b) Developing chernicals recyclable

c) Training for cleaning up chernical spills

d) Knowing when to reduce and elirninate hazardous waste.

4. Environrnental benefits of green chernistry include?

a) Fewer rarv materials and natural resources used

b) Cleaner production technologies and reduce ernissions

c) Snialler quantities of hazardous waste to be treated and disposed

d) All of the above

5. Green chemists reduce risk by

a) reducing the hazard inherent in a cheuical product or process

b) rrinimizing the use of all chernicals

c) investing technologies that will clear-r toxic sites

d) developirig recycled products

6. The temr rnissing in Risk : Hazard x . .. .. . .......is
a) Cancer b) Exposure c) Benign d) Reactivity



7. This word is synonymous with 8leen chernists and also means barmless or gentlc md
not life threatening?

a) Sustainable b) User friendly c) Benign j , Ci-ee::ess

one of the principles in green chemisry says that to produce ............goods.
a) harmful b) commercial c) most useful d) safer

The green synthesis rnethods should have

8.

9.

1C). \\hich oithe Ibilrruin.g is:tc,::::::;::.., .,: -:cc,, _-.-.c-:..Str,

a) low efficiency
c) low energy requirements

b) very harmful products

d) lor*'atom efficielcv

I 1. Identih the nr.n-ir'rric an..i i L:.i:t s,-,..::-.:

a) Carbtrn lelra,.-h]rrriie : r Lt;_e:.;; .-:rlt:. c.,- \.:.
c ) Benzene J, r 1.,. _c:-.e

12. A desirable green solvenr should be

a) costly b) toxic c) synthetic d) readily available

13- which of the following is among 12 principles of green chemisky?

a) Hazard chemi.-al sr nthe::s
c ) L'se of reneu able tiedsit-ck

a) Design commercially viable products
c) Use catalysts, not stoichiometric reagents.

a) Waste prevention

c) Use of catall,sts

b r L Se ;r1lt, ;1g'rr. Sr,1', e:-.:S

i r Re-use ',,,:s:a

14. How many oxygen atoms are there in 0.50 moles of CGz?
a) 3.0 x ld3 b) 3.3 x 10-2a c) 6.0 x td3 d) 8.3 x t0-25

15. which compound is an excellent green solvent as well as a greenhouse gas?
a) CFC's b) COz c) CO d) Methanol

16. Biodiesel is an example of which of the 12 principles of green chemistry?
b) Use of renewable fbedstock

d) Saf-er so1\ ents

17. Wlo is the father of green cheraistry?

a) Albert Eintein b) Joseph Breen c) paul Anastas d) John wamer

18. what is the percent by weight of nitrogen in Nzo? RAM of N : 14.0; o : 16.0
a) 66.7 b) 63.6 c) 52.3 d) 40.7



Consider the following reaction to answer Q19 and Q20.

Cu,,,*Or,,r,+CaO,,,

19. This reaction is an exan-iple for
atDecrtntptrsitit'rrr, [1('1rq1liri1.1.1111rli. c) \er:tralizetiott. dt\letathesis.

',-t. Once ths 3tltrve reactlon rs balanced. tiie coefficient in tiont of Ca(s) is

a)l b)2 c)3 d)4

21 . Wrat is the percentage weight of oxygen in COz? (RAM of C :12, O : 1 6)

a) 25.01% b) s1.02% c) 72.73o/o d) 92.A2%

22. Following is/are an advantage/advantages of using solvents in a reaction.

a) Act as a heat sink or a heat transfer agent.

b) Help to dissolve reactants

c) Help prevent hot spots and nin-away reactions
d) Al1 of above

23. What statetnent is not true about organic solvents?

e) Th.'r ale 1:tuhli recril:t.'t1 h ) \Iailr ',rf thetrl arc- r olatile

- . :.:' -1:. .:.s.\:c:.-.. ' < c r \l.iil'' li:1lc:: ::e tl:::l::l:':'1.'

24.\Nhat statement is true about scCOz?

a) They are toxic b) They are highly flarnrnable

c) They are highly reactive d) They are inexpensive

25. Ionic solvents are

a) highl-v- flarnrnable b) not recyclable

c) often inrrniscible u ith t rganrc srrl\ euts and u ater d) inexpensive
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